=LPDB

3UDFRZQLN 5RINaDG GU KDE SURI QDG]Z 7DUQRSROVNL $QGUIHN 7\J

7N
> 6SHF QDXF]\ 3RGVIDZ\
= SVAFKRIRJLL GID
= QDXFI\FIHL GU KDE SURI
= QDG]Z 7DUQRSRIVNL
0) $QGUIHI =DICFLD RQ 1QH
L )/ : 8&.8
& 1$/° 331%
n JU JJRGQH ] IDSIVDPL
ZVWHPLH 8626 ZI\J
IDCFD  PIQXI Z
JRG]
7N
6SHF QDXF]\ 3RGVIDZ\
SVAFKRIRJL GID
z QDXFJ\FIHI GU KDE SURI
= QDG]Z 7DUQRSRIVNL
x $QGUTHI =DICFID RQ 1QH
N (O/ 8&.81%/
331$
JU DSWVDQD Z 8626 Z
NJ ~ IDICFD  PLOXI
RG
7N
7N 6HPLQDUXP G\SIRPRZH
GU KDE SURI QDG]Z
3V\FKRIRJL 7DUQRSRIVN. $QGUIHI G
D = RTQIDN .UDNRZIDQ
A ZVSyiF]HY $IDID =% $.6
3 QD G / & $.6/ =
x KDE SIRI DICFLD Z W\EIH TGDIO\P
T ggﬁgém\m =DICFD  NGT
\
e = 7DUQRSRIVNL SQGUJHI
DICFID RQ
WH )
o -
2Q 1QH
7\6]
6SHF QDXF]
3RGVI SY\FK GID
QDXF] V] SRQDGSRGVI G
U KDE SIRI QDG]Z
7DUQRSRIVNL SQGUTHI =%
= 80 /
< 1-$ 8&.8 1$ 0
a 3363
N JU JIRGQIH ] IDSVHP Z
I 8626

7\J

6SHF QDXF] 3RGVI SVAFK GID QDXF] V] SRQDGSRGWI Gl
KDE SURI QDG]Z 7DUQRSRIVNL $QGUJHI =DICFID RQ (1QH
)$0 / 1-$ 8&.81$0 3363

JU JIRGQIH ] JDSIVDPL Z V\VIHPIH 8626




=LPDB
3UDFRZQLN 5RINiDG  GU KDE SURI QDG]Z 7DUQRSROVNL $QGUIHI 7\J

7\J

z URIRID FARZIHND GU KDE SURI QDG]Z

= 7DUQRSRIVNL $QGUIHI =% $.6

Q /&

L Z INJ  JRG]LQD GiXTHI JDICFID Z
INELH JGDIQ\P

o4

©




